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1 [Simplify the following expression using Quine- McCluskey method. 10 |CO1| L3
F(a,b,c,d) =Ym(7,9,12,13,14,15)+>.d(4,11) and implement using only NAND gates .
2  a.Define combinational circuits and list the various steps involved in the designing of 5 |COl| L2
combinational circuits.
b.Define Minterm,maxterm ,Literal,Canonical SOP and Canonical POS.. 5 COl| L2
3 [Simply boolean expression using k-Map 10 CO1l| L3
(a) Fi(a,b,c,d)= ¥m(2,3,4,5,13,15)+ 3.d(8,9,10,11)
(b) Fx(a,b,c,d) =nM (1,4,5,11,12,13,15)+ nd(3,9,10)
4 [Implement f(a,b,c,d)=ad+bc’+bd using 4:1 MUX using a and b as select lines. 10 CO2| L3
5 Implement the following function 10 CO2| L3
i) F1(AB,C,D)=Ym(0,2,6,10,11,12,13)+ Y.d(3,8,14) using 74LS151(8:1
MUX) considering lower order input as select inputs.
i) F2(A,B,C,D)=Ym(0,2,3,4,6,7,9,11,13,15)+ Yd(3,8,14) using
74L.S153(4:1 MUX) considering higher order input as select inputs.
6 a.Implement the following function pairs using 74138 decoder. 4 CO2| L3
i.f1=(a,b,c) = X(0,2,4); ii. f2(a,b,c)=x(1,2,4,5,7)
b.Design and implement a 2 Bit digital comparator using basic gates 6 CO2| L3




Implement the following function
iii) F1(A,B,C,D)=3Ym(0,2,6,10,11,12,13)+ >'d(3,8,14) using 74LS151(8:1
MUX) considering lower order input as select inputs.
iv) Fz(A,B,C,D)=3Ym(0,2,3,4,6,7,9,11,13,15)+ >'d(3,8,14) using

74L.S153(4:1 MUX) considering higher order input as select inputs.
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a.Implement the following function pairs using 74138 decoder.
i.fi=(a,b,c) = X(0,2,4); ii. f(a,b,c)=2(1,2,4,5,7)
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b.Design and implement a 2 Bit digital comparator using basic gates
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